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O =AY ¢52 v= Bl
- F(Pb) 0.0146pg/mi = 87 7] F(0.5ug/nd)e] 2.9% T
- AFe)& 0.5388ug/ni &2 127) &= F M & 5522 e
- Fe(0.5388) > Ca(0.2231) > Mg(0.1068) > Al(0.1053) > Mn(0.0712) > Pb(0.0146) >

Cu(0.0108) > Cr(0.0086) > Ni(0.0059) > As(0.0048) > Cd(0.0008) > Be(0.0000)
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HI

PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
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Ol

23 | 0.0031|0.0092|0.0007 | 0.0041 | 0.0134 | 0.2748 | 0.0012 | 0.0809 | 0.0000 | 0.2056 | 0.0084 | 0.0961

M 15 ]0.0038 {0.0127 | 0.0006 | 0.0049|0.0370 | 0.4222 | 0.0238 | 0.0923 | 0.0000 | 0.2322 | 0.0124 | 0.0996
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17 10.0044 | 0.0145 | 0.0007 | 0.0080 | 0.0476 | 0.6089 | 0.0081 | 0.1120 | 0.0000 | 0.3044 | 0.0153 | 0.1189

Of 19 10.0081[0.0222 [0.0011|0.0065|0.1868 | 0.8493 | 0.0014 | 0.1422 | 0.0000 | 0.1504 | 0.0069 | 0.1066

gz 19 |0.0048 |0.0146 | 0.0008 | 0.0059 | 0.0712 | 0.5388 | 0.0086 | 0.1068 | 0.0000 | 0.2231| 0.0108 | 0.1053
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T e PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al
= & 23 [0.0031|0.0092 | 0.0007 | 0.0041 | 0.0134 | 0.2748| 0.0012 | 0.0809 | 0.0000 | 0.2056 | 0.0084 | 0.0961
o 19 10.0006|0.0038|0.0002|0.0035|0.0099(0.3123|0.0010 [ 0.1140|0.0000 | 0.2989 | 0.0038 | 0.1162
HEsE 25 | 0.0016 | 0.0065 | 0.0004 | 0.0017 | 0.0146 | 0.3326 | 0.0018 | 0.1258 | 0.0001 | 0.3103 | 0.0054 | 0.1862
|
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T E PM-10| As Pb cd Ni Mn Fe Cr Mg Be Ca Cu Al
a & 15 |0.0038 | 0.0127 | 0.0006 | 0.0049 | 0.0370 | 0.4222 | 0.0238 | 0.0923 | 0.0000 | 0.2322 | 0.0124 | 0.0996
& 17 0.0010|0.0056 | 0.0002 | 0.0029 | 0.0219 | 0.3733 | 0.0029 | 0.1360 | 0.0000 | 0.2524 | 0.0063 | 0.1476
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= PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

= 17 |0.0044 | 0.0145|0.0007 | 0.0080 | 0.0476 | 0.6089 | 0.0081 | 0.1120 | 0.0000 | 0.3044 | 0.0153 | 0.1189
= 17 0.0012 [ 0.0059 | 0.0002 | 0.0058 | 0.0326 | 0.4959| 0.0071 | 0.1468 | 0.0000 | 0.3186 | 0.0102 [ 0.1205
=& 23 0.0026 | 0.0118 | 0.0005 | 0.0070 | 0.0369 | 0.6791 | 0.0108 | 0.1588 | 0.0001 | 0.4013 | 0.0121 | 0.1839
o
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= PM-10| As Pb Cd Ni Mn Fe Cr Mg Be Ca Cu Al

= 19 {0.0081|0.0222 |0.0011|0.0065 | 0.1868 | 0.8493 | 0.0014 | 0.1422 | 0.0000 | 0.1504 | 0.0069 | 0.1066

= 20 10.0019|0.0071|0.0003 | 0.0054|0.1325|0.7738 | 0.0012 | 0.1535 | 0.0000 | 0.1613 | 0.0090 | 0.0936

o= 24 10.0038|0.0123|0.0005 | 0.0062 | 0.1506 | 0.7816 | 0.0046 | 0.1815 | 0.0000 [ 0.2390 | 0.0131 | 0.1765
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Pb, Cu, Al, Ca, Mg, As M BAlRg bvo w5 E UEY
Mn, Fe& I 5 < 55 YEY

(22 ug/m)

= Pb Cr Fe Ca Mg As Be
2= | 0.0056 0.0030 0.4888 0.2578 | 0.1376 | 0.0012 | 0.0000
£4t10.0081 0.0056 0.4327 0.2889 | 0.1905 | 0.0014 | 0.0000
24+ 1 0.0221 0.0011 0.3410 0.4068 | 0.2381 | 0.0051 | 0.0000
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=T a4
St NES 0 0 0 0 0.9 1< 0.9
HMS 4 0 0 0 0 24 14 24
LS el 0 0 0 0 24 1€ 24
otF& A 0 0 0 0 0.3 1 0.3
(EAHALE FH7|2D
(&9 : )
T = 1LXE | 22X | 3YXF | 4€UXE | SUKX} S pS| k| o
Sts= 16.7 16.4 18.0 20.0 17.6 16.4 20.0 17.7
HM S 15 13 1.0 1.1 1.1 1.0 15 1.2
== 16.9 16.3 19.2 20.1 18.0 16.3 20.1 18.1
OtF= 154 15.5 17.7 17.9 16.3 154 17.9 16.6
(SALE 5
(&9 : %)
+ = 19X | 22Xt | 3UXE | 4¥YXt | 5UX} S | E gz
Stea 16.7 16.4 18.0 20.0 17.6 16.4 20.0 17.7
HMS 1.5 1.3 1.0 1.1 1.1 1.0 1.5 1.2
2L 16.9 16.3 19.2 20.1 18.0 16.3 20.1 18.1
otF& 154 15.5 17.7 17.9 16.3 15.4 179 16.6
(SALE T
(&9 : m/s)
T 14X} 22X} 3L X} 4L X} 5 X} ES P | E | o
Sts= 16.7 16.4 18.0 20.0 17.6 16.4 20.0 17.7
HMES 15 13 1.0 1.1 1.1 1.0 15 1.2
4= 16.9 16.3 19.2 20.1 18.0 16.3 20.1 18.1
oIF& 15.4 15.5 17.7 17.9 16.3 15.4 17.9 16.6
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